

Available online at www.sciencedirect.com



Theoretical Computer Science

Theoretical Computer Science 393 (2008) 196-203

www.elsevier.com/locate/tcs

Another proof of Soittola's theorem

Jean Berstel^{a,*}, Christophe Reutenauer^b

^a Institut Gaspard-Monge (IGM), Université Paris-Est, France ^b LaCIM, Université du Québec à Montréal, Canada

Received 26 June 2007; received in revised form 23 November 2007; accepted 26 November 2007

Communicated by D. Perrin

Abstract

Soittola's theorem characterizes \mathbb{R}_+ - or \mathbb{N} -rational formal power series in one variable among the rational formal power series with nonnegative coefficients. We present here a new proof of the theorem based on Soittola's and Perrin's proofs together with some new ideas that allows us to separate algebraic and analytic arguments. © 2008 Elsevier B.V. All rights reserved.

Keywords: Formal power series; Rational series; Poles of rational fractions

1. Introduction

Soittola's theorem characterizes \mathbb{R}_+ - or \mathbb{N} -rational formal power series in one variable among the rational formal power series with nonnegative coefficients. Recently, there was a renewal of interest in these series, both for the combinatorial aspect [7] and for the computational problems, such as reverse engineering [2] and effective implementation of the algorithm underlying Soittola's proof [11,12]. The importance of these series comes, among others, from the fact that \mathbb{N} -rational series are precisely the generating series of rational languages. It is a remarkable property of these series that they admit also an analytic characterization by their poles.

The aim of this paper is to present a new proof of Soittola's theorem, that is a merge of Soittola's original proof, of Perrin's proof and of some new ideas that will allow us to separate algebraic and analytic arguments.

The authors developed this proof when they went through the manuscript of their book [4] during the process of preparing a new edition.

Recall that an \mathbb{N} -rational series in the variable x is obtained by applying sums, products and the star operation $S^* = \sum_{n\geq 0} S^n$ (where S has 0 constant term), starting with polynomials over \mathbb{N} . For example, the Fibonacci series $\sum_{n\geq 0} F_n x^n$, with $F_0 = F_1 = 1$ and $F_{n+2} = F_{n+1} + F_n$ is \mathbb{N} -rational since it is equal to $(x + x^2)^*$. Also, the series $3x^2 + ((x + 3x^2)^*x + x^4)^*$ is another example of an \mathbb{N} -rational series.

* Corresponding author.

E-mail address: berstel@univ-mlv.fr (J. Berstel).

Our main result is a new proof of Soittola's characterization (Theorem 2.1) of K_+ -rational series in one variable when $K = \mathbb{Z}$ or K is a subfield of \mathbb{R} .

The star height of positive series is the concern of the last section. We prove the result of [10] (Theorem 3.1): each K_+ -rational series in one variable has star height at most 2, and has a rational expression of a very special form; in particular, the argument of the innermost star is a monomial. This result is implicit also in Soittola's paper.

Consider series of the form

$$\sum a_n x^n$$

with all coefficients in \mathbb{R}_+ . If such a series is the expansion of a rational function, it does not imply in general that it is \mathbb{R}_+ -rational (examples are given in [3], [5] Example VIII.6.1, [16] Exercise II.10.2, [4] Exercise V.2.2). We shall characterize in the next section those rational functions over \mathbb{R} whose series expansion is \mathbb{R}_+ -rational. We call them \mathbb{R}_+ -rational functions. The necessary condition is given by:

Theorem 1.1 ([3]). Let f(x) be an \mathbb{R}_+ -rational function which is not a polynomial, and let ρ be the minimum of the moduli of its poles. Then ρ is a pole of f, and any pole of f of modulus ρ has the form $\rho\theta$, where θ is a root of unity.

Observe that the minimum of the moduli of the poles of a rational function is just the radius of convergence of the associated series.

We recall, for later use, the following weak converse.

Proposition 1.2. Let $S = \sum a_n x^n$ be a \mathbb{Z} -rational series which has polynomial growth. If the coefficients a_n are in \mathbb{N} , then S is \mathbb{N} -rational.

This proposition is Exercise II.10.3 in [16] or Proposition VIII.2 in the electronic version of [4].

2. Characterization

Theorem 1.1 gives a necessary condition for a rational function to be \mathbb{R}_+ -rational. We now give a sufficient condition in the general case.

Let $S = \sum_{n \ge 0} a_n x^n$ be a rational series which is not a polynomial. It is well-known that there exists an *exponential* polynomial for a_n , that is

$$a_n = \sum_i P_i(n)\lambda_i^n \tag{1}$$

for *n* large enough, where the P_i 's are polynomials over \mathbb{C} and the λ_i are nonzero complex numbers. The λ_i are called the *eigenvalues* of *S* (in [4] they were called the *roots* of *S*). The *multiplicity* of λ_i is deg $(P_i) + 1$. The eigenvalues are the inverses of the poles of the rational fraction associated with *S*, with the same multiplicity.

A rational series with complex coefficients which is not a polynomial is said to have a *dominating eigenvalue* if there is, among its eigenvalues, a unique eigenvalue having maximal modulus. It is equivalent to say that the associated rational function has a unique pole of minimal modulus.

Theorem 2.1 ([15]). Let $K = \mathbb{Z}$ or K be a subfield of \mathbb{R} . A K-rational series with nonnegative coefficients which is not a polynomial and which has a dominating eigenvalue is K_+ -rational.

For the sake of completeness, we mention without proof (which is easy) the following complete characterization of K_+ -rational series. Recall that the *merge* of series S_0, \ldots, S_{p-1} is the series

$$\sum_{i=0}^{p-1} x^i S_i(x^p).$$

Corollary 2.2. A series over K_+ is K_+ -rational if and only if it is the merge of polynomials and of rational series having a dominating eigenvalue.

Let $S = \sum_{n\geq 0} a_n x^n$ be a series which is not a polynomial and suppose, using (1), that λ_1 is the dominating eigenvalue of S. We call *dominating coefficient* of S the dominating coefficient α of P_1 . Observe that when $n \to \infty$

$$a_n \sim \alpha n^{\deg(P_1)} \lambda_1^n \tag{2}$$

and

$$\frac{a_{n+1}}{a_n} \sim \lambda_1. \tag{3}$$

Lemma 2.3. Let *S*, *S'* be real series which are not polynomials and which have the same dominating eigenvalue λ_1 with dominating coefficients α , α' .

(i) The series SS' has also the dominating eigenvalue λ_1 with dominating coefficient positively proportional to $\alpha \alpha'$.

(ii) The coefficients of S are ultimately positive if and only if λ_1 and α are positive real numbers.

(iii) If S is the inverse of a polynomial P with P(0) = 1, and if λ_1 is a positive real number, then α also is a positive real number.

Proof. (i) We write *S* as a \mathbb{C} -linear combination of partial fractions. Let β be the coefficient of $1/(1 - \lambda_1 x)^{k+1}$ in this combination, where $k = \deg(P_1)$. Since $1/(1 - \lambda_1 x)^{k+1} = \sum_{n \ge 0} {n+k \choose k} \lambda_1^n x^n$ and ${n+k \choose k} = \frac{n^k}{k!} + \cdots$, the dominating term of $P_1(n)$ is $\beta \frac{n^k}{k!}$, and $\alpha = \beta/k!$. If we do similarly for *S'*, we obtain a dominating term of the form $\beta' \frac{n^\ell}{\ell!}$ and $\alpha' = \beta'/\ell!$. The product *SS'* has the eigenvalue λ_1 with multiplicity $k + \ell + 2$, the dominating term is $\beta \beta' \frac{n^{k+\ell+1}}{(k+\ell+1)!}$, so the dominating coefficient is $\alpha \alpha' k! \ell! / (k + \ell + 1)!$. This gives the result.

(ii) If the a_n are ultimately positive, then $\lambda_1 > 0$ by (3). Moreover, α is positive by (2). Conversely, if $\lambda_1, \alpha > 0$, then $a_n > 0$ for *n* large enough by (2).

(iii) We have $P(x) = \prod_{i=1}^{d} (1 - \lambda_i x) \in \mathbb{R}[x]$ with $\lambda_i \in \mathbb{C}$, $\lambda_1 = \cdots = \lambda_k > |\lambda_{k+1}|, \ldots, |\lambda_d|$, for some k with $1 \le k \le d$. In order to compute the dominating coefficient α of P^{-1} , we write P^{-1} as a \mathbb{C} -linear combination of series $1/(1 - \lambda_i x)^j$. Then $\alpha = \beta/(k-1)!$ where β is the coefficient of $1/(1 - \lambda_1 x)^k$ in this linear combination. To compute β , multiply the linear combination by $(1 - \lambda_1 x)^k$ and put then $x = \lambda_1^{-1}$. Since only fractions $1/(1 - \lambda_1 x)^j$ with $j \le k$ occur, this is well defined and gives

$$\beta = \frac{1}{\prod_{i=k+1}^{d} \left(1 - \frac{\lambda_i}{\lambda_1}\right)}.$$

Now, the numbers λ_i^{-1} , for i = k + 1, ..., d are the roots of the real polynomial $\prod_{i=k+1}^d (1 - \lambda_i x)$. Hence, either λ_i is real and then $|\lambda_i| < \lambda_1$ and thus $1 - \frac{\lambda_i}{\lambda_1} > 0$, or λ_i is not real and then there is some j such that λ_i, λ_j are conjugate. Then so are $1 - \frac{\lambda_i}{\lambda_1}$ and $1 - \frac{\lambda_j}{\lambda_1}$, so that their product is positive. Hence α is positive. \Box

Given an integer $d \ge 1$ and numbers B, G_1, \ldots, G_d in \mathbb{R}_+ , we set

$$G(x) = \sum_{i=1}^{d-1} G_i x^i,$$

$$D(x) = (1 - Bx)(1 - G(x)) - G_d x^d.$$
(4)

If d = 1, we agree that B = 0. In this limit case, $D(x) = 1 - G_1 x$. In view of [15], we call a polynomial D(x) of the form (4) a *Soittola denominator*. The numbers B, G_1, \ldots, G_d are called the *Soittola coefficients* of D(x) and B is called its *modulus*.

Note that setting

$$D(x) = 1 - g_1 x - \dots - g_d x^d$$

the Eq. (4) is equivalent to

$$g_1 = B + G_1$$

 $g_i = G_i - BG_{i-1}, \quad i = 2, ..., d.$
(5)

Likewise, we call Soittola polynomial a polynomial of the form

$$x^d - g_1 x^{d-1} - \dots - g_d$$

with the g_i as above. Thus a Soittola polynomial is the reciprocal polynomial of a Soittola denominator.

Lemma 2.4. Let

$$P(x) = \prod_{i=1}^{d} (1 - \lambda_i x)$$

be a polynomial in $\mathbb{R}[x]$ with $\lambda_i \in \mathbb{C}$, $\lambda_1 > 1$, and $\lambda_1 > |\lambda_2|, \ldots, |\lambda_d|$. Let

$$P_n(x) = \prod_{i=1}^d (1 - \lambda_i^n x).$$

For n large enough, $P_n(x)$ is a Soittola denominator with modulus $< \lambda_1^n$ and with Soittola coefficients in the subring generated by the coefficients of P.

Proof. The fundamental theorem of symmetric functions states that every symmetric polynomial in variables $\lambda_1, \ldots, \lambda_d$ over \mathbb{Z} is a polynomial over \mathbb{Z} in the elementary symmetric functions. See [13], pages 20–21.

Let $e_{i,n}$ be the *i*th elementary symmetric function of $\lambda_1^n, \ldots, \lambda_d^n$. We conclude that $e_{i,n}$ is in the ring generated by the $e_{i,1}$, hence in the ring generated by the coefficients of $P = P_1$.

Clearly $e_{1,n} \sim \lambda_1^n$ when $n \to \infty$. Note that for $i \ge 2$, each term in $e_{i,1}$ is a product of *i* factors taken in the λ_j 's, and containing at least one factor with modulus $< \lambda_1$. Similarly for $e_{i,n}$. Therefore $e_{i,n}/\lambda_1^{in} \to 0$ when $n \to \infty$.

We may assume that $d \ge 2$. Define $B = \lfloor e_{1,n}/2 \rfloor$ and G_1, \ldots, G_d by the formulas $G_1 = e_{1,n} - B$ and $G_i = BG_{i-1} + (-1)^{i-1}e_{i,n}$ for $i = 2, \ldots, d$ (we do not indicate the dependence on *n* which is understood). Since $\lambda_1^n \to \infty$, we have $B \sim \lambda_1^n/2 \sim G_1$. Arguing by induction on *i*, suppose that $G_i \sim \lambda_1^{in}/2^i$. We have $G_{i+1} = (-1)^i e_{i+1,n} + BG_i$. Now $BG_i \sim \lambda_1^{(i+1)n}/2^{i+1}$ and we know that $e_{i+1,n}/\lambda_1^{(i+1)n} \to 0$. Thus $G_{i+1} \sim \lambda_1^{(i+1)n}/2^{i+1}$. The lemma follows by (5), since when P_n is given the form (6), then we have $g_i = (-1)^{i-1}e_{i,n}$. \Box

In view of [14], we call Perrin companion matrix of the Soittola polynomial (6) the matrix

$$P = \begin{pmatrix} B & 1 & 0 & \cdots & 0 & 0 \\ 0 & 0 & \ddots & & & \\ & \ddots & & 1 & 0 \\ 0 & \cdots & & 0 & 1 \\ G_d & & & G_2 & G_1 \end{pmatrix}.$$
(7)

It differs from a usual companion matrix by the entry 1, 1 which is not 0 but B. In the limit case d = 1, one sets $P = (G_1)$.

Lemma 2.5. Let D(x) be the Soittola denominator (4). Given $S = \sum a_n x^n$, define $T = \sum t_n x^n$ and $U = \sum u_n x^n$ by T = DS and U = (1 - Bx)S.

Then for $n \geq 0$,

$$P\begin{pmatrix}a_n\\u_{n+1}\\\vdots\\u_{n+d-1}\end{pmatrix} + \begin{pmatrix}0\\\vdots\\0\\t_{n+d}\end{pmatrix} = \begin{pmatrix}a_{n+1}\\u_{n+2}\\\vdots\\u_{n+d}\end{pmatrix}.$$
(8)

Moreover, if T is a polynomial of degree < h, then for any n

$$a_{n+h} = (1, 0, \dots, 0) P^n (a_h, u_{h+1}, \dots, u_{h+d-1})^t.$$

(6)

Proof. Note that in the limit case d = 1, Eq. (8) must be read as $G_1a_n + t_{n+1} = a_{n+1}$, which is easy to verify. We thus may assume that $d \ge 2$. The first matrix product is equal to

$$\begin{pmatrix} Ba_n + u_{n+1} \\ u_{n+2} \\ \vdots \\ u_{n+d-1} \\ \alpha \end{pmatrix}$$

where

$$\alpha = G_d a_n + \sum_{i=1}^{d-1} G_i u_{n+d-i}.$$

Observe next that by (4)

$$T = (1 - Bx)(1 - G(x))S - G_d x^d S = (1 - G(x))U - G_d x^d S.$$

Thus

$$t_{n+d} = u_{n+d} - \sum_{i=1}^{d-1} G_i u_{n+d-i} - G_d a_n$$

showing that $\alpha + t_{n+d} = u_{n+d}$. This proves the first identity. Suppose now that *T* is a polynomial of degree < h. Then $0 = t_{h+d} = t_{h+d+1} = \cdots$. Using induction and (8) for $n = h, h + 1, \ldots$, we obtain

$$P^{n}\begin{pmatrix}a_{h}\\u_{h+1}\\\vdots\\u_{h+d-1}\end{pmatrix} = \begin{pmatrix}a_{n+h}\\u_{n+h+1}\\\vdots\\u_{n+h+d-1}\end{pmatrix}$$

which implies the second identity. \Box

Proof of Soittola's theorem. 1. By Lemma 2.3(ii), the dominating eigenvalue λ_1 of *S* is positive. We may assume that $\lambda_1 > 1$. Indeed, if *K* is a subfield of \mathbb{R} , then we replace S(x) by $S(\alpha x)$ for α in \mathbb{N} large enough; then the eigenvalues are multiplied by α and we are done. If $K = \mathbb{Z}$ and $\lambda_1 \leq 1$, then by Proposition 1.2, *S* is \mathbb{N} -rational.

2. Write S(x) = N(x)/D(x) where *D* is the smallest denominator with D(0) = 1. Then $N, D \in K[x]$ (this follows from Fatou's lemma, see [4]). Let *m* be the multiplicity of the eigenvalue λ_1 of *S*. Since *K* is a factorial subring of \mathbb{R} , we may write $D(x) = D_1(x) \cdots D_m(x)$, where each polynomial $D_i(x)$ has coefficients in *K*, has the simple factor $1 - \lambda_1 x$ and satisfies $D_i(0) = 1$.

Decompose S as a merge $S = \sum_{0 \le i < p} x^i S_i(x^p)$. Then the eigenvalues of S_i are the *p*th powers of those of S (equivalently the poles of S_i are the *p*th powers of those of S). Hence, if p is chosen large enough, Lemma 2.4 shows that we may assume that D_1 is a Soittola denominator of the form

$$D_1(x) = (1 - Bx) \left(1 - \sum_{i=1}^{d-1} G_i x^i \right) - G_d x^d$$

with $d \ge 1$, B, $G_i \in K_+$ and $B < \lambda_1$. Since $a_{n+1}/a_n \sim \lambda_1$ we see that $u_{n+1} = a_{n+1} - Ba_n \ge 0$ for n large enough. 3. Let

$$T = \sum_{n \ge 0} t_n x^n = D_1 S.$$

Suppose first that λ_1 is simple, that is m = 1. Then T is a polynomial and Lemma 2.5 shows that $\sum_{n\geq 0} a_{n+h}x^n$ is K_+ -rational for h large enough. Hence S is K_+ -rational. Suppose next that $m \geq 2$ and argue by induction on m. Note that S, D_1^{-1} and T have the dominating eigenvalue λ_1 , the latter with multiplicity m - 1. Lemma 2.3(ii) and (ii) show that D_1^{-1} and S have positive dominating coefficient. Thus by Lemma 2.3(i), since $D_1^{-1}T = S$, the series T also

has positive dominating coefficient. This implies that *T* has ultimately positive coefficients and thus that for *h* large enough, the series $\sum_{n\geq 0} t_{n+h+d}x^n$ is K_+ -rational, by induction on *m*.

Thus $t_{n+h+d} = \nu N^n \gamma$ for some representation (ν, N, γ) over K_+ . Define a representation (ℓ, M, c) over K_+ by

$$\ell = (1, 0, \dots, 0), \quad M = \begin{pmatrix} P & Q \\ 0 & N \end{pmatrix}, \quad c = \begin{pmatrix} a_h \\ u_{h+1} \\ \vdots \\ u_{h+d-1} \\ \gamma \end{pmatrix}$$

where h is chosen large enough and where all rows of Q are 0 except the last which is ν . We prove that

$$M^{n}c = \begin{pmatrix} a_{h+n} \\ u_{h+n+1} \\ \vdots \\ u_{h+n+d-1} \\ N^{n}\gamma \end{pmatrix}.$$

This is true for n = 0 by definition. Admitting it holds for n, the equality for n + 1 follows from Lemma 2.5 (where n is replaced by n + h), since $QN^n\gamma$ is a column vector whose components are all 0 except the last one which is $\nu N^n\gamma = t_{n+h+d}$. We deduce that $\ell M^n c = a_{n+h}$ and $S = \sum_{i=0}^{h-1} a_i x^i + x^h \sum_{n\geq 0} a_{n+h} x^n$ is therefore K_+ -rational. \Box

3. Series of star height 2

We consider now the star height of K_+ -rational series.

Theorem 3.1. Let K be a subfield of \mathbb{R} or $K = \mathbb{Z}$. Any K_+ -rational series is in the subsemiring of $K_+[[x]]$ generated by $K_+[x]$ and by the series of the form

$$(Bx^p)^*$$
 or $\left(\sum_{i=1}^{d-1} G_i x^i + G_d x^d (Bx^p)^*\right)^*$

with $p, d \ge 1, B, G_i \in K_+$. In particular, they have star height at most 2.

Note that there exist \mathbb{R}_+ -rational series of star height 2. For instance, the series $(2x + x^2x^*)^* = \sum_{n\geq 0} F_{2n}x^n$ has star height 2 [1]. A related result is in [9].

As another example, consider the sequence $f^{(n)}$ of \mathbb{N} -rational series given by $f^{(0)} = 1$, and $f^{(n+1)} = (xf^n)^*$. For example,

$$f^{(5)} = (x(x(x(x^*)^*)^*)^*)^* = \frac{1}{1 - \frac{x}{1 - \frac{x}{1 - \frac{x}{1 - \frac{x}{1 - \frac{x}{1 - \frac{x}{1 - x}}}}}}.$$

Then $f^{(5)} = \frac{1-4x+3x^2}{1-5x+6x^2-x^3}$ and the argument of the proof below shows that

$$f^{(5)} = 1 + x(1 + x^2(3x)^*)(2x + x^3(3x)^*)^*.$$

Proof of Theorem 3.1. Denote by \mathcal{L} the semiring defined in the statement. It is clearly closed under the substitution $x \mapsto \alpha x^q$ for $q \ge 1, \alpha \in K_+$. Thus it is also closed under the merge of series.

So, if we follow the proof of Soittola's theorem, we may pursue after steps (1) and (2). We start with a notation. Given a series $V = \sum_{n\geq 0} v_n x^n$ and an integer $h \geq 0$, we write $V^{(h)} = \sum_{n>h} v_n x^n$ and $V_{(h)} = \sum_{n\leq h} v_n x^n$. Thus it

follows from U = (1 - Bx)S that

$$U^{(h)} = S^{(h)} - BxS^{(h-1)} = S^{(h)}(1 - Bx) - Ba_hx^{h+1}$$

$$U_{(h)} = S_{(h)} - BxS_{(h-1)} = S_{(h-1)}(1 - Bx) + a_hx^h.$$

We show below the existence of a polynomial P_h with coefficients in K_+ , for h large enough, such that

$$U^{(h)} = \left(P_h + T^{(h)} + a_h G_d x^{h+d} (Bx)^*\right) H^*$$

where

$$H = G + G_d x^d (Bx)^*.$$

If m = 1, we take *h* large enough and $T^{(h)} = 0$. If $m \ge 2$, we conclude by induction on *m* that $T^{(h)}$ is in \mathcal{L} . Thus the series $U^{(h)}$ is in \mathcal{L} , and since $(1 - Bx)S^{(h)} = Ba_h x^{h+1} + U^{(h)}$ the series

$$S = \sum_{i=0}^{h} a_i x^i + (Bx)^* (Ba_h x^{h+1} + U^{(h)})$$

is in \mathcal{L} .

Now from

$$T = D_1 S = (1 - Bx)(1 - H)S = U(1 - H),$$

we get

$$T^{(h)} = (U(1-H))^{(h)} = (U^{(h)}(1-H))^{(h)} + (U_{(h)}(1-H))^{(h)}$$
$$= U^{(h)}(1-H) + (U_{(h)} - U_{(h)}H)^{(h)}$$
$$= U^{(h)}(1-H) - (U_{(h)}H)^{(h)}.$$

Next

$$(U_{(h)}H)^{(h)} = (U_{(h)}G)^{(h)} + (U_{(h)}G_dx^d(Bx)^*)^{(h)}.$$

Recall that $G = \sum_{i=1}^{d-1} G_i x^i$. The first term on the right-hand side is

$$\left(U_{(h)}H\right)^{(h)} = \sum_{\substack{0 \le j \le h \\ 0 < \ell < d \\ j+\ell > h}} u_j G_\ell x^{j+\ell}.$$

Setting $j + \ell = h + i$ with 0 < i < d, this rewrites as $\sum_{i=1}^{d-1} w_i x^{h+i}$ with

$$w_i = \sum_{\substack{0 \le j \le h \\ 0 < \ell < d \\ j \neq \ell = h + i}} u_j G_\ell.$$

Now note that in this sum, since $\ell < d$, we have j > h - d, hence $u_j \ge 0$ for h large enough. This shows that $(U_{(h)}H)^{(h)}$ is a polynomial with coefficients in K_+ .

To compute the second term, recall that $U_{(h)} = S_{(h-1)}(1 - Bx) + a_h x^h$. Consequently

$$U_{(h)}(Bx)^* = S_{(h-1)} + a_h x^h (Bx)^*.$$

So the term $(U_{(h)}G_dx^d(Bx)^*)^{(h)}$ reduces to the sum of a polynomial with coefficients in K_+ and of the series $G_da_hx^{h+d}(Bx)^*$. Thus we obtain, for h large enough

$$T^{(h)} = U^{(h)}(1 - H) - G_d a_h x^{h+d} (Bx)^* - P_h$$

with $P_h \in K_+[x]$. \Box

Note that the assertion on star height 2 may also be obtained by drawing the automaton associated to the Perrin companion matrix, see [14], Fig. 1.

4. Notes

A proof of Theorem 1.1 based on the Perron–Frobenius theorem has been given by [6].

The proof of Theorem 2.1 given here is based on [15,14] with some new ideas, in particular Lemmas 2.3 and 2.4. The latter is reminiscent of a theorem of Handelman, see [8,14]. Recently, algorithmic aspects of the construction have been considered in [2] and in [11,12].

There is another proof of Soittola's theorem given in [10]. The proof works when the dominating eigenvalue is simple. However, when the eigenvalue is multiple, the proof seems to be incorrect. Indeed, with the notation of the paper, we get, from the equations in the proof of Lemma 6 of [10], the equation $g_{N+2} = a_{N+2} + (d_1 - \alpha_1)a_{N+1} = a_{N+2} - \alpha_1 a_{N+1} + d_1 a_{N+1}$. By the exponential polynomial in Equation (3.5) in [10], $a_{N+2} - \alpha_1 a_{N+1}$ grows as $N^{K_1-2}\alpha_1^N$ for $N \to \infty$, whereas the last term $d_1 a_{N+1}$ grows as $N^{K_1-1}\alpha_1^N$. Since d_1 is not shown to be positive (and there seems to be no reason for this to hold), g_{N+2} is not positive for sufficiently large N, contrary to what is asserted in page 92, line 2. A concrete counter-example to the proof of Lemma 6 in [10] is the following. Let f(z) = z/P(z) with $P(z) = (1 - \alpha z)(1 - \alpha z)(1 - z)$ (here $\alpha = \alpha_1$). Then we take, as in Lemma 5, $P_1(z) = (1 - \alpha z)(1 - z)$ and therefore $R_1(z) = 1 - z$. It is easily seen that f(z) has positive coefficients for $\alpha > 0$, and the hypothesis of Lemma 6 is fulfilled if α is chosen large enough. Finally, $d_1 = -1$. Moreover, taking $\alpha = 2$, we find that $g_{N+2} = -(N+2)2^{N+1} - 2$, as indicated by one of the referees.

Acknowledgements

We are indebted to the two referees for their careful reading and their suggestions for improvements.

References

- [1] Frédérique Bassino, Nonnegative companion matrices and star-height of N-rational series, Theoret. Comput. Sci. 180 (1–2) (1997) 61–80.
- [2] Elena Barcucci, Alberto Del Lungo, Andrea Frosini, Simone Rinaldi, A technology for reverse-engineering a combinatorial problem from a rational generating function, Adv. in Appl. Math. 26 (2) (2001) 129–153.
- [3] Jean Berstel, Sur les pôles et le quotient de Hadamard de séries N-rationnelles, C. R. Acad. Sci. Paris Sér. A-B 272 (1971) A1079–A1081.
- [4] Jean Berstel, Christophe Reutenauer, Rational series and their languages, in: EATCS Monographs on Theoretical Computer Science, vol. 12, Springer-Verlag, 1988, The new version is presently available at Berstel's homepage.
- [5] Samuel Eilenberg, Automata, Languages, and Machines. Vol. A, Academic Press [A subsidiary of Harcourt Brace Jovanovich, Publishers], New York, 1974.
- [6] Michel Fliess, Séries rationnelles positives et processus stochastiques, Ann. Inst. H. Poincaré Sect. B (N.S.) 11 (1975) 1–21.
- [7] Ira Gessel, Rational functions with nonnegative integer coefficients, in: The 50th séminaire Lotharingien de Combinatoire, page Domaine Saint-Jacques, March 2003. Unpublished, available at Gessel's homepage.
- [8] D. Handelman, Positive matrices and dimension groups associated to c*-algebras and topological Markov chains, J. Operator Theory 6 (1981) 55–74.
- [9] Vesa Halava, Tero Harju, Mika Hirvensalo, Positivity of second order linear recurrent sequences, Discrete Appl. Math. 154 (2006) 447-451.
- [10] Takuya Katayama, Masayuki Okamoto, Hajime Enomoto, Characterization of the structure-generating functions of regular sets and the DOL growth functions, Inform. Control 36 (1) (1978) 85–101.
- [11] Christoph Koutschan, Regular languages and their generating functions: The inverse problem, Diplomarbeit informatik, Friedrich-Alexander-Universität Erlangen-Nürnberg, 2005.
- [12] Christoph Koutschan, Regular languages and their generating functions: The inverse problem, Theoret. Comput. Sci. 391 (2008) 65-74.
- [13] I.G. Macdonald, Symmetric functions and Hall polynomials, in: Oxford Mathematical Monographs, second edn, The Clarendon Press Oxford University Press, New York, 1995. With contributions by A. Zelevinsky, Oxford Science Publications.
- [14] Dominique Perrin, On positive matrices, Theoret. Comput. Sci. 94 (2) (1992) 357–366. Discrete mathematics and applications to computer science (Marseille, 1989).
- [15] Matti Soittola, Positive rational sequences, Theoret. Comput. Sci. 2 (3) (1976) 317-322.
- [16] Arto Salomaa, Matti Soittola, Automata-Theoretic Aspects of Formal Power Series, Springer-Verlag, New York, 1978.